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For-use with pages 44-50

Use the figure at the right.
1. Are 21 and £2 a linear pair?
2. Are /4 and 45 alinear pair?

3. Are £3 and £1 vertical angles?
4. Are /2 and /5 vertical angles?

Use the figure at the right.
5 If ms6 =51° thenms7 = _7 .
6. Ifm/8 = 103°, thenms6 = _? . <
7. fm/9 = 136° then ms8 = 7 .
Ifms7 =53° thenms9 = 7 .
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In Exercises 9-12, assume £ A and 2B are complementary and 2B

and £ € are supplementary.
9, If msA =48 thenm/ZB= 7 andmsiC= 17
10. If m£B = 83°,vthen m/A= 7 andmsC= 17 .

M. TmsC =127 thenmsB = ?  andmZA = 7 .
12. IfmsA =45°, thenm/B = ? andmsC= 7 .

Find the value(s) of the variable(s).
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In Exercises 19 and 20, assume that £ A is supplementary to L8
and complementary to 2 C. Determine mZA, m/ZB, and m.C.

19. mZA = x°, m/B = (x + 40)°, m£C = (x — 50)°
20. m/A = x°, m/B = (2x)°, m£C = (x — 30)°
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(2x + 8)°\ (Bx + 17)°
(By + 15)°
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